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Lighthouses have been used to help sailors travel safely since ancient times. For example, a
lighthouse might be located on dangerous rocks, or a group of several lighthouses with different
patterns of light flashes might guide ships through a narrow channel.
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during the 19th century, lighthouses were converted to use electricity which gave a‘m_rl :
reliable light source. )

he Sankey diagram below shows the efficiency of a light bulb.

Select the correct energy type to label the arrows.
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Use the diagram to calculate the light energy output.
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Question 1e (4 marks) | I

_‘ Calculate the energy used by a 3000 W light bulb in one hour. Give your answer in

—- : === standard form.
In the early 1900s, light bulbs using up to 3000 W (J s7) were found in some lighthouses. 1
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ngable items:

Producer  Third order consumer Secondary consumer Second order

Primary consumer  Carnivore First order consumer Tertiar
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" ~Question 4 (15 marks)

clothes, biofuel, medicinal plants and other products are used to sustain and enhance life.
Farming can also help to reduce poverty by raising family incomes for people who live in rural
areas.

Mung beans are one of the most consumed sprouts and are primarily grown in Asian countries.
These plants grow from 45 cm to 1 m tall. Like many other types of seeds, mung beans require
specific conditions to germinate and sprout.
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Question 4b (1 mark)

An MYP year 5 student is carrying out an investigation to see how the pH of the soil affects
growth of mung bean sprouts. The mung bean sprouts germinated one week before the

investigation started. This experiment was performed once for each pH value and was done
over 10 days. The bean sprouts were watered regularly.

Mung bean sprouts can grow in a range of conditions as shown in the animation below.

he correct description for the pH of each soil type.

pH=5 pH=7

Select

Neutral
| Acidic

Alkaline

esearch question for the investigation shown in the
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Plant height / cm
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Peat moss
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and potassium (K) compounds, and the symbols of these elements are used to d |
1 nutrients they contain. NPK fertilizer contains nitrogen, phosphorus and potassiun |

e o

: wn as a nutrient deficiency. The images below give some examples of the effects
deficiency on plants.

Plant A Plant B







Yield (kgm)






e of the most important nutrients required for plant growth is nltrogen N|troge
added to the soil to increase plant growth. In this question, you will plan an inv
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neasurements
 statement of how you will make sure your method is safe.




Video Transcript
Throughout history, people have tried to reduce the population size of insects that destroy crops

and spread disease. Pesticides are chemicals that are used to kill insects and other pests. One
example of a pesticide is DDT (dichloro-diphenyl-trichloroethane).

dichloro

DDT or dichloro-diphenyi-trichloroet

Scroll down to continue

sticides are often used to kill insects. Suggest one other method which farmers
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of the information provided and knowledge from your MYP studies, discuss
the implications of each proposal and choose which proposal to recommend

answer you should include:

‘advantages of each proposal for reducing the mosquito population size
isadvantages of each proposal for reducing the mosquito population size -
ocial impacts of your chosen proposal on your local community '
nvironmental impacts of your chosen proposal on your local community -

luding recommendation
on of your recommendation.




